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A?4'orl-aISE}ICTION-A

o3n$ooddo od> erud-{dideri w{otu. 5ie wd-qidnri

Answer any five sub-questions. Each sub-question

1. (a) olndoodd^ -og d{*X ddmsddd$$i dtfldoa.

List any four accounting standards.

(d)

(e)

(0

(g)

GN-330
I Semester B.Com. Examination, December

(F+R) (CBCS) (2014-15 and Onwards)

COMMERCE
1.3 : Financial Accounting - I

Time : 3 Hours Max. Marks :70

Instntction : Ansu.ters should be written completelg either in Dnglish or in Kannada.
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oddl eroddsb. 5x2=1O

carries two marks.

(b) 8ed amerl aodde;$ ?

What is meant by Dead Rent ?

(c) !ara,1a oJJiemddo ;oc* (.l;d_,"ung,t, €s':,.

Mention any two objectives of accounting.

5)d iJd -.:Jam 569 ;c.olCl ?-- o ?

What is Pure Single Entry System ?

6o3r s)O."L il-g acdoe-: ?

What is Insta-llment System of Purchase ?

Sgsdco sEri acdoei: ?

What is Realisation Account ?

^J^9^J-J- r^r-a a^r---J -J;- JJ oJ-JJ-
SJOf(J ['C)aIaI. 6CC}J@CgqrJsJ eJOcgi .^JCJ€/tVc)J, 9Y..r.

Mention the two methods of purchase consideration.
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4d4rlarl erudo&. 5ie q$nri Edr eicdr!$b.

2- drorat'p dt*uc$* dlraco er&d,oed$c -*rs dlad tugd#.bd aco&.
Describe any three advantages and tirree iirnitations of Iinancial accounting.

3. ESnd drob8otood qdoepd oonoib Ceio$&. docd:bGs3:o.

50,000

1,00,000

20,000

7,000

3,000

From the following information calculate opening stock.
I\

60,000

1,00,000

20,000

7,000

3"000

GN-330 a

eq,orl -A f SECTION-B

questions. Each question carries six marks"
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3x6= 18otm$aoddo dlJad)

Answer any three

ddrdO a)oee-
l-'f-*-q J-J. \sJc^tl' CJq./ c^)JcJOeJ-
eoddd ooid>
.^\-+- J^a)^)-VUt2UcJC\)9 CJ'J')V\]

^ .J -)JrJ 
---^9.9 

t9^JclY !?( JcJ ,JU{ loi cJO cJi,3

dq, *qJC dd dr{d d:eeJ dedrea 25 dod.

Purchases during the Year

Sales during the Year

Closing Stock

Manufacturing Expense s

Carriage Inward

Rate of gross prolit was 25Zo on cost.

4. d$nd &dddeod eroadd aged6? dqo$$4 doirDO& :

dg r;6r eaori ooasdd Eodzierondpd < 3 d0* eroGri dD&Fd < 40,000 f.,{d
dods ilra$ ddrd$eje ooes.frd &addo$.*, aoCdo$ade$. Cnde; *;:;: ;drrlq
stEdd erdld,;ba'0ft 1O,O0O, 12,000 a$dl 1S,O0O BdrrlgJ.

Prepare an Analysis Table from the following details :

Royalty payable { 3 per ton of output rninimum rent { 40,000 p.a. Shortworking
are recoverable during the first three years of the lease only. Output during
the first three yea-rs 1o,o0o, 12,000 and 1s,000 tons respectively.
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5. s{ dsjaod iJ;dr19od sx,oJD ilncjJ 2,5doJ)$, Eo6t&,&ci^:O :

5L3il; r,lCr6 ;ie t 4,5t10

tfe rog) < 4,2AO

2de dod: < 3,900

3de dod: < 3,600

4d€ dcdJ < 3,300

rQ6o 5f .10 =,xF6*

Calculate the cash price of a:r asset from ihe following details :

Down payment < 4,500

lst Insta-l1ment < 4,2AA

2nd Installment < 3,900

3rd Installment < 3,600

4th Installment { 3,300

Rate of Interest lOoh p.a.

6. 53 ii+60d iildfrg0c $Oeer cdo$&, dod:&EoguO :

o g.z{d g.r tr,
c!

Calculate the amount of purchase consid.eration from the following :

. The purchasing company agreed to issue 20000 equity shares of ( 10

each at a premium of lOoh, 1O0O 8% preference shares of ( 100 each at
par, 1000 6% debentures of t iOO each at a discount of lOah and pay

cash equal to 25Yo of the total purchase consideration.

. &ocd:d"c$rJ5 dodDoi:: ( 10 d, 20000 FDdJDd, decbz'l$r, l}a d dEdo
ddd9 < 100 d 8% 1O0O sd^sl aed:riqc, C$$Cdri < 100 d 5% 10OO xoe.:6a;

ddrl$d). 10% flJoeari $d) s.ur so€o zido$ 25% $. dild) dJaddo d,ode.:lJ+je;"{-

P.T.O.
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olreQoaddn *./ocb {d+deri il;og eioooa. {,c}:^ro*t, dauoq.? ecdd*r. Bxr4=42Answer any three questions" E""d qr*uiror,. 
"rrri"* fourteen marks.

01.01.2012 doe3: a;qo a3rdqddcb e;iaaae,,,*5o* i0ddrilqj*dd e,oer e.oild&.
tgdd dd6?6 edd oa;-dis ds sard { s dod ;*a dcr* aCIad m&rd .il#$43 w$d* dJoddob$+ d"ode-r o."g ierdeJ$ &,ce*oS.r6.:_..

4

$qnrl - A I SECTISN_C

7.

eroddoQ ESEodo€d.
cJeill

2012
2013
2014
2015
2016

de{ ?jDAd aad, eDasdd ood, Endd erodd, and d:g. ci n :rs^1^+,r

Beliary mines took a Land from Land Lord on lease for a period of 1o years
:1-1:t,January 2an. The royalty r,vas ( s per ton r,vith a dead rent of< 20,000 and power to recoup slortworking cluring the first four years of thelease.
The annual output was as follows :

eru{d+ (["3F6rlgg)

2,OOO
3,000
4,000
4,500
5,000

Output (tonsf
2,AOA
3,000
4,000
4,500
5,000

Year
2012
2013
2014
2015
2016

Prepare Dead Rent account, Royalties account, sLr.ortworkilg account, andLand Lord account in the books of Bellarrr rnines.

8. 
?*31;1116::d d?:T ab{ dodeoi:_. z,od o$ogidcr* siDail iiEv;;fcr rqec$gdJurcJ^er. drrd cej T 40,000 d$d &odd c60d, i ro,ooo ;j, 'r.cS ;_;$d1 w*d dcodibn ilJa6 Do&Fd *6arn.;g { 10,000 dod, -*.- }.. ,b -;;;d"od d.adQ).J.. oJlogd&i gie tdr sr adouo de. i5 U .;;ii ,;_* B;0€eo$9 iddg doodenrb{cb. {iee6f us6 6o*Lc$ {irE;: =n=.-- ;;i
fod=o yld*n_eoerd ilq.eo$g r.o; an?n**i e*aii. -on 01.01.2016 pravee., ard company pur.ha*la . -.lniner_v under hirepurchase system. The cash price was ( 40,000 p;]r;d.;;;;;. : { 10,000on signing the agreement and the balance in 3 installments of < 10,000each together with interest at2ook p.a. on 3l"t of ou".*u", L.6 y.*. Theasset is depreciated at rsok p.a. on originar cost method. prepare iedgeraccounts in the books praveen and co., under asset accrua_l method.
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9. tu. ,1:d: d-. df-drl$d), lOojrod ddrodo$-O^ eruea gooAq. dg8od d;ob8cbodn -J 't m o
;rr=r; ;-i. ={ rt* -t ndnv&* 31.03.20181d:a e6U Xciin =i rmi,r:b
-1! 9^?\-\ +^i-A qe!trv\&:^. (r!^-\/gU^).

!n

cje !r+. E_6_a
v { i.d ,i7r, (d C^Jg](^)cJ !,

unsdrld)

ooaod:

aedoedEdeo

dsddsb

JJJ.
NI\GD

doAeO:rd e,ied erodrict di E$fldo9d :

oL.o4.2AL7

(<)

17,OOO

g,oo0

5,000

6,000

4,000

60,000

42,OOO

10,000

3,000

2,OOO

4,000

3,OOO

6,000

1,000

2,OOO

1,000

500

31.O3.2018

(<)

24,AOO

12,000

5,000

4,500

?

,.r-Ji., ^< 1+rri\T|JIIVUCJ i^) Nd(,J(J O3l:

FlO,l;n looeoC 5E&6 Es:

f no raJ

;J9!v/ \

d$eo d{
?a:J {"fruvg uo

<1+\ )-). \
:Jl lvJ- rJ!:rUg.-1

<i-<. aa<^e-
aJr tL J cJUf LJ

J ^^A ;.qo !-
^!elUg I I\/iJCJJ

O

{ n cA oqr )\ I al9-{r_!9\W AW NOW1J
s.i e^.j O

+--. i 
-JJ-

r",UiUUvi ,OoJAD
d

;iir 

-^-
J\r09- 1uU
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Mr. Guru does not maintain proper books of accounts. From the folior,t"ing

informaticin prepare Trading account, Profit ald Loss account lor the year

ended 31.03.2018 and the Balance sheet as on that date.

Assets and Liabilities o7-.a4.2017 31.03.2018

Debtors

Stock

Furniture

Creditors

Cash in hand

Other varified factors are as

Cash collected from debtors

Cash paid to creditors

Salaries

Rent

Office expenses

Drawings

Cash sales

Cash purchases

Discount received

Discount allowed

Return inward

Bad debts

(<)

17,000

9,000

5,000

6,000

4,000

foilowed :

60,000

42,OOO

10,ooo

3,000

2,000

4,000

3,000

6,OOO

1,000

2,OOO

1,OOO

500

(<)

24,OAO

12,000

5,000

4,500

?

GN-330 6
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31.03.2018 docb ?.oc$
6-e-J- --^A6^J ..-JJ
o"IL9"JU!. :,UUJoJUcJ \?cJU

ul e3ilo?rBo dq
.--^- AJat-(dqlQJ.\Jg lJl tYJ

o *'9 t<t er,rd$;
J d.Jod^ (<l

deqrl'tu=)

^- ^ 06 ^J 
---

UJO^UOoJU(J ^J0(JD

" . ^-?: o4 a- J<ai.(^] \rL9q.ic-, V €UU {24 l\!

x
Y

Z

32,000

16,000

80,000

60,OO0

52,000

oln\r *!r :lr:*{:dgw ww oww

"qred-oedddsodS)
EAOrrodd)

LJU 
^JU 

OIr
J

aJl It^.\J

72,OOO

48,000

60,000

52,000

8,000

2,40,OOO 2,4O,OOO

tiodclo$: * dSri dv;eD,\d Cdn$g (ilrl$$4 driddooad :

ei€A; drq dqd { 88,000; aedoedddsorl$) 7 44,OOO; xDerrodd T 56,OOO;eJoxod)

{ 48,000; &e€r- d$"} < 16,000, < 30,800 d$* xo0rlori aod8is: iaa e"&d.
< L0 d 6500 Ce&d$;i:* Aeadr erDed dJoddd), drlad droddq aod8tud. dqd$
Crq T 2,000 Ho{c,J: Q$mg i"od arodrl$$4 do3eO:r.

X, Y and Z were in partnership sharing profits and losses in the ratio of
4:3:1 respectiveiy. On 3lst h,larch 2O1B they agreed to sell their business to
a limited cornpany.
Their position on tkrat date r,t'as as follows :

Balance Sheet
Liabilities Amount ((l Assets Amount ((l

Creditors
Loan Frorn Bank
Capital Account

Y1\

Y

Z

32,000
16,000

80,000
60,000
52,000

Land and Building
Furniture
Debtors
Stock
Cash

72,OOO

48,000
60,000
52,000

8,O00

2,40,OOO 2r4OrOOO

The company took the following as.qets at the valuation shown below : : i

Land and Building t 88,OOO; Furniture { 44,0O0; Debtors { 56,000;
Sfock < 48,OOO and Goodwill { 16,000. The company also agreed to pay
creditors which was agreed at t 30,800. The company paid 6600 equity
shares of t 1O each and the balance in cash. The expenses amounted'to
< 2,000 prepare the necessary ledger accounts in the books of the firm.

GN-330

10. X,Yd;6 Z m$)emCId,*gq, emei d:E d*d*$d 4:3:l erdrmdd$ doaSd.oQe{dl.

Q" ;.F-d no{o$$o dmde.:: e-..XriDo$-)rg do#Dri 6
o q J^ i-lJ^J^ qJ
&€ (J5 oVOUL9U!?CJ.
a
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11. .. (a) d$nd tdUrleoC @eodd eg€d6? Cqd$d doinO,:i :

(i) dOd zmerl am&rd { 40,000

(ii) qo sC cooii oaaftd { 5

(iii) dn*td *ode.: d:"ror ddrd$Q malfid d6ddo$$d toc*i;::al6,Ar

(iv) dnde; ooo-., ddrd* wdd* 6r dSdodo8d :

2014 - 6,000 [Jdfd$b

2015 - 7,000 €,iordsb

2016 - 8,000 $6frlsjJ

2A77 - 9,000 [Jofrlsb

(b) Eoari &o*J"ad dqeo3: gie doedQ qdrd Deo$ c"ogd$d dod:&Go3:o.

dricb dd t 1,50,000; aboorld aod8 < 45,000, dlo& oa&rd dod>rlvoC
< 60,000, ( 45,000 d)q { 30,0003$aon Eie dcrd arado$g md€ienlo{d.

(a) Prepare an analysis table from the following detaiis :

(i) Minimum rent { 40,000 p.a.

(ii) Royalty payable { 5 per ton

(iii) Shortworking can be recoverable during the first 3 year of the
iease only

(iv) The production for the past 4 yea-rs were as follows :

2AI4 - 6,O00 tons

2015 - 7,O00 tons

2016 - 8,000 tons

2AL7 - 9,000 tons

(b) Calculate the amount of interest included in each instaiiment under
hire purchase system.

Cash price < 1,50.000; Dor,rin payment < 45,000, 3 annual installment of
{ 60,000, < 45,000 and { 30,000 respectively payable at the end of each
year.

-oOo-
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